
Math 8174: Homework 6

Due: November 19, 2010

1. For g = sp4(C) and λ = 2ωα + 3ωβ, compute

(a) Λ(L(λ)),

(b) For each µ ∈ Λ(L(λ)), bound the dimension dim(L(λ)µ).

2. Let λ ∈ P+. Show that 0 is a weight of L(λ) if and only if λ ∈ Q.

3. If V and U are two g-modules, then U ⊗ V is the g-module given by

x · (u⊗ v) = (x · u)⊗ v + u⊗ (x · v).

(a) Show that Λ(L(λ)⊗ L(µ)) = Λ(L(λ)) + Λ(L(µ)).

(b) Show that

dim((L(λ)⊗ L(µ))ν+ν′) =
∑

γ+γ′=ν+ν′

dim(L(λ)γ) dim(L(µ)γ′).

See page two for B2 paper.




